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1-Plane that cut the body into two equal sides :
A'-'liarésagi'tl:al plane

B-Frontal plane

C-Transverse plane

D-Sagittal plane

E-Coronal plane

2-Ears are.....to the nose:
A-Posterior

B-Proximal

C-Lateral

D-Anterior

E-Distal

3-The region(5) of the abdomen is called:
A-LeFt iliac region

B-Right iliac region

C-Umbilical region

C-Hypogastric region

D-Epigastric regions

4- p‘uer hous’ c.ll:

A-Nucleus
B-Mitochondria
C-Ribosome
D-Lysosomes
E-Endoplasmic reticulum

5-The part which is responsible For the division and reproduction:
A-Nucleus

B-Mitochondria

C-lysosomes

D-Ribosomes

ect spelling of the medical term fFor(vessel enlargement):
ialtion
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Answer:D.

Answer:c

Answer:c

Answer:B

AnswerA

Answer:B
Or vasodilation



7'_-'WI'1'5E_is the correct about this term (hybo / insulin / emia)
A- low insulin levels in the blood.

B-low pressure in the blood.

C-The sufFixe began with vowel.

D-the prefix end with vowel.

Answer:A
8-T.I._je' medical term that indicates drainage from the nose:
A. Rhinorrhexis
B.rhinorrhea
C.diarrhea
D.stomatorrhea
Answer:b
9-The plural fForm of appendix:
A.appendices
B.appendixes
C.appendixces
D.appendixs
Answer:3

10- Which of the Following is a cause of Addison disease:
A-Insufficient secretion of corticoid and aldosterone
B-lack of thyroid hormone secretion
C-Excessive production of cortisol
D-Excessive production of parathyroid hormone
E-Excessive production of pituitary
Answer:A

11-Q/severe pain and sensation of constriction around heart; caused by myocardial
ischemia:

A.hematoma

B.septice

C.angina pectoris

D.polythemia vera

Answer:c
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A-Median plane
B-Anatomical plane
C-Transverse plane
D-Frontal plane
E-Sagittal plane

Answer:D

A-Mesothelium
B-Endothelium
C-Squamous epithelium
D-Adipose tissue
Answer:A

A.thrombolytic therapy
B.anti angina
C.ACE inhibitor
D.nitrates
Answer:3

—

A.arrhythmia
B8.888B

C. Thalassemia
D.angina pectoris

Answer:d

16-The opposite of hypersecretion of estrogen by adrenal cortex in males?
A. adrenal Feminitation
hing‘s synstome

swer:cC
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A.pericardium
B.endocardium
C.myocardium
D.epicardium

Answer:a

18-Stress response of the body is due to the effect of which hormones among the
Following:
A-Parathyroid
B-Catecholamines
C-Adrenocorticosteroid
D-pituitary hormones
E-Thyroid hormones
Answer:B

A.orthostatic hypotension
B.infarct
C.regurgitation
D.ischemia
Answer:a

20- What is the gland that directly and indirectly affects the other gland?
A.hypothalamus
B.pitugland
C.adrenal gland
D.thymus gland
Answer:3

1- ova —
2-spermatozoa
cula

swer:C
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22- An animal that has a thyrectomy, what should we give it to get it back to
normal?

A.thyroxine

B. lodine

C. Triiodothyronine

D.calcitonin

Answer:a

Answer:state of slow heart

Answer:(bradypnea)

A-Inflammation of a vessel
B-Narrowing of a vessel
C-Recorded of a vessel
Answer:c

A-hurt ,lung
B-heart ,coronary arteries
C-heart, body organs and tissues
D-gastrointestinal tract liver
Answer:c

A-ACE inhibitors
B-Nitrates
C-Statins
D-stent

Answer:C

28-Patient has a hirsutism, Any doctor shouldgo?
docrinologist

nswer:a




A.of or pretaning to
B.condition
C.enlargement
D.tumor

Answer:a

A-anterior
B-posterior
C-superior
D-inferior
Answer:B

A-superior
B-Medial
C-Inferior
D-posterior
E-proximal
Answer:e

A.above or over
B.below
C.toward
D.in Front of
Answer: 3

A.caudal
B.ventral
C.dorsal

D.Cephalad

Answer:a —

nswer:a




35-Glucose tolerance test:

A. measures blood suger level over servcral hours afterdrin a surge of glucose
B. measures blood suger level after12 hours tast

C.measures blood suger level after a3 meal

D.measures blood suger level 2 hours after a meal

Answer:3
36-thyrotoxicosis disease symptoms:
A.rapid heart rate, tremors ,weight loss
B.rapid heart rate, tremors, weight gain
C.slow heart rate, tremors, weight gain
D.slow heart rate, tremors, weight loss
Answer:3

37-cardiovascu@”eans;

A.circulatory system
B.a series of tubes and a muscular pump that provides a one-way traffic for blood
C.arteries, veins and capillaries
D. All of the above
Answer:d

BB-MF d*ghMﬂitosis and M.s, respectiv’:

A-2,4
B-4,4
c-4,2
D-2,2
Answer:A
39-Number of phases of mitosis and meiosis, respectively:
A-4,2
B-4,4
C-2,2

D-2,4 ..V.Q.U\
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Answer:A




